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Abstract:  In thisipaper, a new type of (𝑮. 𝒏) – tupled common fixed point and (𝑮. 𝒏) – commute mapping in Fuzzy metric space are introduced 

and studied, we also discuss the existence and uniqueness for ( 𝑮. 𝒏) – tupled common fixed point of mappings having (𝑮. 𝒏) – commute. A 

(𝑮. 𝒏) – tuplet commonifixed pointitheorems for this type of mappings are established.  
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1.Introduction and Preliminaries: 

Fuzzy set wasidefined by Zadeh [1]. Kramosil and Michalek [2] 

introducediFuzzy metric space, Georege and Veermain [3] 

modified the motion of  Fuzzy metric space with the help of 

continuous t-norms. Many reserchers have obtained common 

fixedipoint theorems for mappings. Panit [4] introduced the new 

concept of reciprocallyicontinuous mapping and established 

some common fixed point in Fuzzy metric space can be viewed 

in [5]. 

 Now we will give the following concepts: 

Definition (1.1): Let ℛ1: Ε
𝑛 → Ε , ℛ2, … … ,  ℛ𝑛: Ε𝑛 → Ε𝑛   

𝑎𝑛𝑑 𝒦1, 𝒦2, …… ,𝒦𝑛: Ε → Ε are mappings. A point 

(𝑥1, 𝑥2, … … , 𝑥𝑛) ∈ Ε𝑛 is called (𝐺. 𝑛) – tupled coincidence 

point of this mapping if 

 ℛ1 (ℛ2(…… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛)) … . . )) =

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1))… . . )) 

 ℛ1 (ℛ2(…… (ℛ𝑛(𝑥2,𝑥3,…,𝑥1))… . . )) =

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥2))… . . )) 

⋮ 

 ℛ1 (ℛ2(…… (ℛ𝑛(𝑥𝑛,𝑥1,…,𝑥𝑛−1))… . . )) =

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛))… . . )) 

Definition(1.2):Let ℛ1: Ε
𝑛 → Ε , ℛ2, … … ,  ℛ𝑛: Ε𝑛 →

Ε𝑛 𝑎𝑛𝑑  𝒦1, 𝒦2, … … ,𝒦𝑛: Ε → Ε are mappings. A point  

(𝑥1, 𝑥2, … … , 𝑥𝑛) is called (𝐺. 𝑛)–tupled common fixed point if 

 ℛ1 (ℛ2(…… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛)) … . . )) =

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1))… . . )) = 𝑥1 

 ℛ1 (ℛ2(…… (ℛ𝑛(𝑥2,𝑥3,…,𝑥1))… . . )) =

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥2))… . . )) = 𝑥2 

⋮ 

 ℛ1 (ℛ2(…… (ℛ𝑛(𝑥𝑛,𝑥1,…,𝑥𝑛−1))… . )) =

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛))… . . )) = 𝑥𝑛. 

 

Definition(1.3):Let  ℛ1: Ε
𝑛 → Ε , ℛ2, ……, 

 ℛ𝑛: Ε𝑛 → Ε𝑛𝑎𝑛𝑑  𝒦1, 𝒦2, …… ,𝒦𝑛: Ε → Ε are mappings. We 

say that these mappings are (𝐺. 𝑛) – commute at the point 

(𝑥1, 𝑥2, … … , 𝑥𝑛) if 

𝒦1 (𝒦2 (… (𝒦𝑛 [ℛ1 (ℛ2(… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛)). . ))])… . . ))

= ℛ1

(

 
 
 

ℛ2

(

 
 

…ℛ𝑛

(

 
 

1𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)). . ))

, 1𝒦1 (𝒦2(… (𝒦𝑛(𝑥2)). . )) ,

… ,1𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛)). . )))

 
 

. )

 
 

)

 
 
 

. 

In thisipaper ,welconsider Ψ is the set of all mappings 

𝒢: [0,∞)  → [0,∞) such that: 

i. 𝒢 is non – decreasing. 

ii. 𝒢 is upper semi – continuous from the right. 

iii. ∑ 𝒢𝑛
(𝑡)

< ∞,∞
𝑛=0  ∀𝑡 > 0  s. t  𝒢𝑛+1

(𝑡)
=

𝒢 (𝒢𝑛
(𝑡)

) , 𝑛 ∈ 𝑁. 

2. Main results: 

In this section, we establish our main results 

Theorem (2.1):Let 𝐴 𝑎𝑛𝑑 𝐵 are two families of mappings such 

that, 𝐴 = {ℛ1, ℛ2, … , ℛ𝑛 𝑠. 𝑡  ℛ1: Ε
𝑛 → Ε , ℛ2, … … ,  ℛ𝑛: Ε𝑛 →

Ε𝑛}, 𝐵 = {𝒦1, 𝒦2, … … ,𝒦𝑛: Ε → Ε} and let (Ε, 𝒯,⊛) be a fuzzy 

metricispace such that ⊛ is a t – norm of H – type. Suppose that 

𝒢 ∈ Ψ satisfying:    𝒯[ℛ1 (ℛ2(… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛)). . )), 

ℛ1 (ℛ2(… (ℛ𝑛(𝑦1,𝑦2,…,𝑦𝑛))… )) , 𝒢(𝑡)] ≥

𝒯 [
𝒦1 (𝒦2(…1(𝒦𝑛(𝑥1))… . . )) ,

1𝒦1 (𝒦2(…1(𝒦𝑛(𝑦1))… . . )) , 𝑡
 ]  ⊛

𝒯 [
1𝒦1 (1𝒦2(…… (𝒦𝑛(𝑥2))… . . ))

, 1𝒦1 (1𝒦2(…… (𝒦𝑛(𝑦2))… . . )) , 𝑡
]       ⊛ … ⊛

𝒯 [
1𝒦1 (1𝒦2(…… (𝒦𝑛(𝑥𝑛)) … . . ))

, 1𝒦1 (𝒦2(…… (𝒦𝑛(𝑦𝑛))… . . )) , 𝑡
]             (2.1)                            

Paper ID: ART20175159 DOI: 10.21275/ART20175159 1263 

file:///C:/Users/dell/Downloads/www.ijsr.net
http://creativecommons.org/licenses/by/4.0/


International Journal of Science and Research (IJSR) 
ISSN (Online): 2319-7064 

Index Copernicus Value (2015): 78.96 | Impact Factor (2015): 6.391 

Volume 6 Issue 7, July 2017 

www.ijsr.net 
Licensed Under Creative Commons Attribution CC BY 

 where 𝑡 > 0 and 𝑥𝑖 , 𝑦𝑖 ∈ Ε, for all   𝑖 = 1,2, …… , 𝑛. If 

1𝒦1(𝒦2(… …1(𝒦𝑛) … . . )) is complete subspace of Ε 

containing ℛ1(ℛ2(… … (ℛ𝑛) … . . )) and these mappings in 

𝐴 𝑎𝑛𝑑 𝐵 are (𝐺. 𝑛) – commute mappings. Then 𝐴 𝑎𝑛𝑑 𝐵 have a 

unique (𝐺. 𝑛) – tupled coincidence fixed point of compose the 

mappings of  𝐴and 𝐵. 

Proof: Consider 𝑥0
1, 𝑥0

2, … … , 𝑥1
𝑛 ∈ Ε, since 

𝒦1(𝒦2(… (𝒦𝑛). . ))containing ℛ1(ℛ2(… (ℛ𝑛) … )), that there 

exists 𝑥1
1, 𝑥1

2, … … , 𝑥1
𝑛 ∈ Ε such that 

𝒦1 (𝒦2 (…1 (𝒦𝑛(𝑥1
1))… ))

= 𝒦1 (ℛ2 (…(ℛ𝑛(𝑥0
1,𝑥0

2,…,𝑥0
𝑛))… )) , 

𝒦1 (𝒦2 (…1 (𝒦𝑛(𝑥1
2)) . . ))

= ℛ1 (ℛ2 (…(ℛ𝑛(𝑥0
2,𝑥0

3,…,𝑥0
𝑛,𝑥0

1)) . . ))  , . .. 

 𝒦11 (𝒦2(…1(𝒦𝑛(𝑥1
𝑛))… )) =

ℛ1 (ℛ2 (… (ℛ𝑛(𝑥0
𝑛,𝑥0

1,…,𝑥0
𝑛−1))…)).  Also,  

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥2
1)) . . )) =

ℛ1 (ℛ2 (… (ℛ𝑛(𝑥1
1,𝑥1

2,…,𝑥1
𝑛)) . . )) ,𝒦1 (𝒦2 (… (𝒦𝑛(𝑥2

2)) . . )) =

ℛ1 (ℛ2 (… (ℛ𝑛(𝑥1
2,𝑥1

3,…,𝑥1
𝑛,𝑥1

1))… . )) , . ., 

 𝒦1 (1𝒦2(…… (𝒦𝑛(𝑥2
𝑛))… . . ))

= ℛ1 (ℛ2 (… …(ℛ𝑛(𝑥1
𝑛,𝑥1

1,…,𝑥1
𝑛−1))… . . )) 

In general, we can construct the sequences 

< 𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘
1))… . . )) >,<

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘
2))… . . )) >,… , 𝑎𝑛𝑑 <

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑘
𝑛))… . . )) >  such that, 

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥𝑘
1))…))  

= 𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
1,𝑥𝑘−1

2,…,𝑥𝑘−1
𝑛)) . . )), 

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥𝑘
2))…))

= ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
2,𝑥𝑘−1

3,…,𝑥1
𝑛,𝑥𝑘−1

1))…))… .. 

𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘
𝑛)) … ))

= ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
𝑛,𝑥𝑘−1

1,…,𝑥𝑘−1
𝑛−1))…)) 

We want to show that the above sequences are Cauchy 

sequences in (Ε, 𝒯,⊛), since ⊛is t – norm of H – type.This 

implies, ∀  ʎ > 0 ∃ 𝜇 > 0 such that : 

(1 − 𝜇) ⊛ (1 − 𝜇) ⊛ … ⊛ (1 − 𝜇) ≥ 1 − ʎ, ∀𝑛 ∈ 𝑁. on the 

other hand, for all 𝑥, 𝑦 ∈ Ε, 𝒯(𝑥, 𝑦, 𝑡) is continuous and 

lim
𝑡→∞

(𝑥, 𝑦, 𝑡) = 1, then there exists 𝑡° > 0 such that. 

𝒯 [
𝒦11 (𝒦2 (…… (𝒦𝑛(𝑥0

1))… )) ,

𝒦11 (𝒦2 (… …(𝒦𝑛(𝑥1
1))… )) , 𝑡0

] ≥ 1 − 𝜇 

𝒯 [
𝒦11 (𝒦2 (…… (𝒦𝑛(𝑥0

2))… )) ,

𝒦11 (𝒦2 (… …(𝒦𝑛(𝑥1
2))… )) , 𝑡0

] ≥ 1 − 𝜇 … . . …                                                                                                         

𝒯 [
𝒦11 (𝒦2(… …(𝒦𝑛(𝑥𝑜

𝑛))… )) ,

𝒦1 (𝒦21(…… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

] ≥ 1 − 𝜇       (2.2) 

 By using (2.1), we get: 

𝒯 [
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥0

1,𝑥0
2,…,𝑥0

𝑛))… ))

, ℛ1 (ℛ2 (… (ℛ𝑛(𝑥1
1,𝑥1

2,…,𝑥1
𝑛))… )) , 𝒢(𝑡0)

] ≥

𝒯 [
𝒦11 (𝒦2 (… …(𝒦𝑛(𝑥0

1))… ))

,𝒦1 (𝒦2 (… 1 (𝒦𝑛(𝑥1
1))… )) , 𝑡0

] ⊛

 𝒯 [
𝒦1 (𝒦2 (…(1𝒦𝑛(𝑥0

2))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
2))…)) , 𝑡0

] ⊛

  ……   𝒯 [
𝒦1 (1𝒦2(… … (𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦21(… …(𝒦𝑛(𝑥1
𝑛)) … )) , 𝑡0

].Also

𝒯 [
𝒦1 (𝒦2 (… 1 (𝒦𝑛(𝑥1

2))… )) ,

𝒦1 (𝒦2 (… 1 (𝒦𝑛(𝑥2
2))… )) , 𝒢(𝑡0)

]    =

 𝒯 [
ℛ1 (ℛ2 (…(ℛ𝑛(𝑥0

2,𝑥0
3,…,𝑥0

𝑛,𝑥0
1))… ))

,ℛ1 (ℛ2 (…(ℛ𝑛(𝑥1
2,𝑥1

3,…,𝑥1
𝑛,𝑥0

1))… )) , 𝒢(𝑡0)

] ≥

 𝒯 [
𝒦1 (𝒦2 (…… 1 (𝒦𝑛(𝑥0

2))… )) ,

𝒦1 (𝒦2 (…… 1 (𝒮𝑛(𝑥1
2))…)) , 𝑡0

] ⊛

𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥0

3))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥1
3))… )) , 𝑡0

] ⊛ … ⊛

𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥0

𝑛)) … )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

] , continue   

    [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1

 𝑛)) … )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥2
𝑛))… )) , 𝒢(𝑡0)

]

= 𝒯 [
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥0

𝑛,𝑥0
1,…,𝑥0

𝑛−1))…)) ,

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥1
𝑛,𝑥1

1,…,𝑥1
𝑛−1))… )) , 𝑡0

] 
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𝒯 ≥ 𝒯 [
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

1))…)) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

⊛ … …

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
𝑛−1))… )) , 𝑡0

] 

As the same way and by using above inequalities, we get 

    𝒯 [
1𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥2

 1))… )) ,

𝒦1 (𝒦2 (…1 (𝒦𝑛(𝑥3
1))…)) , 𝒢2

(𝑡0)

]

= 𝒯 [
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥1

1,𝑥1
2,…,𝑥1

𝑛)) … )) ,

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥2
1,𝑥2

2,…,𝑥2
𝑛))…)) , 𝒢2

(𝑡0)

]

≥ 𝒯 [
𝒦11 (𝒦2 (… (𝒦𝑛(𝑥1

 1))… )) ,

𝒦1 (𝒦2 (…1 (𝒦𝑛(𝑥2
1))… )) , 𝒢(𝑡0)

]

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥1

 2))… ))

,𝒦1 (𝒦2 (…(𝒦𝑛(𝑥2
2))…)) , 𝒢(𝑡0)

] ⊛ … 

⊛ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥1

 𝑛))… ))

,𝒦1 (𝒦2(… (𝒦𝑛(𝑥2
𝑛)) … )) , 𝒢(𝑡0)

]     

≥ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

𝑛

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

2))…)) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
2))… )) , 𝑡0

]

𝑛

⊛ … …

⊛ 𝒯 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥0

𝑛)) … )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑛

 

[
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥2

 2))…)) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥3
2))… )) , 𝒢2

(𝑡0)

]

= 𝒯 [
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥1

2,𝑥1
3,…,𝑥1

𝑛,𝑥1
1))…)) ,

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥2
2,𝑥2

3,…,𝑥2
𝑛,𝑥1

1))… )) , 𝒢2
(𝑡0)

]

≥ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥1

 2))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥2
2))… )) , 𝒢(𝑡0)

] 𝒯

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥1

 3))…)) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥2
3))… )) , 𝒢(𝑡0)

] ⊛ …⊛ 

    𝒯 [
𝒦1 (𝒦2(… … (𝒦𝑛(𝑥1

 𝑛))… )) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥2
𝑛)) … )) , 𝒢(𝑡0)

]   

≥ 𝒯 [
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1
𝑛)) … )) , 𝑡0

]

𝑛

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

𝑛

⊛ ……

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
𝑛−1)) …)) , 𝑡0

]

𝑛

, continue  

    𝒯 [
𝒦1 (𝒦2(… … (𝒦𝑛(𝑥2

 𝑛))… )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥3
𝑛))… )) , 𝒢2

(𝑡0)

]

= 𝒯 [
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥2

𝑛,𝑥2
1,…,𝑥2

𝑛−1))… )) ,

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥3
𝑛,𝑥3

1,…,𝑥3
𝑛))… )) , 𝒢2

(𝑡0)

]

≥ 𝒯 [
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥2

𝑛))… )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥3
𝑛))… )) , 𝒢(𝑡0)

]

⊛     𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥2

1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥3
1))… )) , 𝒢(𝑡0)

] ⊛ …   

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥2

𝑛−1))… )) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥3
𝑛−1))… )) , 𝒢(𝑡0)

]   

≥ 𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥0

1))…)) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

𝑛

⊛ 𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥0

2))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥1
2))… )) , 𝑡0

]

𝑛

⊛ ……

⊛ 𝒯 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑛

 

Similarly,    𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘

 1))…)) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘+1
1))…)) , 𝒢𝑘

(𝑡0)

] = 

𝒯 [
ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1

1,𝑥𝑘−1
2,…,𝑥𝑘−1

𝑛))… ))

, ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘
1,𝑥𝑘

2,…,𝑥𝑘
𝑛))… )) , 𝒢𝑘

(𝑡0)

] ≥

𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 1))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘
1))… )) , 𝒢𝑘−1

(𝑡0)

] ⊛

𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 2))… ))

,𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘
2))… )) , 𝒢𝑘−1

(𝑡0)

] ⊛ … ⊛
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𝒯 [
𝒦1 (𝒦2(… … (𝒦𝑛(𝑥𝑘−1

 𝑛))… )) ,

𝒦1 (𝒦2(… … (𝒦𝑛(𝑥𝑘
𝑛))… )) , 𝒢𝑘−1

(𝑡0)

]… .≥

𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥0

1))…)) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

𝑛𝑘−1

⊛

𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥0

2))…)) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥1
2))… )) , 𝑡0

]

𝑛𝑘−1

⊛ …… ⊛

 𝑀 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑛𝑘−1

  

Also, 

𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘

 2))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘+1
2))… )) , 𝒢𝑘

(𝑡0)

]

= [ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1
2,𝑥𝑘−1

3,…,𝑥𝑘−1
𝑛,𝑥𝑘−1

1))… )) , 

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘
2,𝑥𝑘

3,…,𝑥𝑘
𝑛,𝑥𝑘

1))… )) , 𝒢𝑘
(𝑡0)]   

≥ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 2))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘
2))… )) , 𝒢𝑘−1

(𝑡0)

]

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥𝑘−1

 3))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘
3))…)) , 𝒢𝑘−1

(𝑡0)

] ⊛ …

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 1)) … )) ,

ℛ1 (ℛ2 (… …(ℛ𝑛(𝑥𝑘
1))… )) , 𝒢𝑘−1

(𝑡0)

]         .  .  .  .

≥ 𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥0

2))…)) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥1
2))… )) , 𝑡0

]

𝑛𝑘−1

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

3))…)) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
3))… )) , 𝑡0

]

𝑛𝑘−1

⊛ ……

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
1))…)) , 𝑡0

]

𝑛𝑘−1

 

Continue, 𝒯 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑘

 𝑛))… )) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑘+1
𝑛))… )) , 𝒢𝑘

(𝑡0)

] ≥

                  𝒯 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥0

𝑛)) … )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑛𝑘−1

⊛

𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥0

1))…)) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

𝑛𝑘−1

⊛ …… ⊛

𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥1
𝑛−1))…)) , 𝑡0

]

𝑛𝑘−1

 

Now,if 𝑙 = max{𝑛𝑘−1, 𝑛𝑘, 𝑛𝑚−2} then by using above 

inequalities, then 

𝒯 [

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑘
 𝑛))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑚
𝑛)) … )) ,∑ 𝒢𝑘

(𝑡0)

∞

𝑘=𝑛0

]

≥ 𝒯 [

𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑘
 𝑛))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑚
𝑛))… )) ,∑ 𝒢𝑘+1

(𝑡0)

𝑚−1

𝑘=𝑛0

] 

≥ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘

𝑛))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘+1
𝑛))… )) , 𝒢𝑘

(𝑡0)

]

⊛   𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘+1

 𝑛))… )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑘+2
𝑛)) … )) , 𝒢𝑘+1

(𝑡0)

] ⊛ . . .

⊛ 𝒯 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑚−1

 𝑛))… )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑚
𝑛))… )) , 𝒢𝑚−1

(𝑡0)

]

≥ 𝒯 [
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥0

𝑛))… ))

,𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑛𝑘−1

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
1))…)) , 𝑡0

]

𝑛𝑘−1

⊛ … …

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
𝑛−1))… )) , 𝑡0

]

𝑛𝑘−1

⊛ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥0

𝑛))… ))

,𝒦1 (𝒦2(… (𝒦𝑛(𝑥1
𝑛)) … )) , 𝑡0

]

𝑛𝑘

 

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

1))… ))

,𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
1))…)) , 𝑡0

]

𝑛𝑘

⊛ … …

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
𝑛−1))… )) , 𝑡0

]

𝑛𝑘

⊛ …

⊛ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥0

𝑛))… ))

,𝒦1 (𝒦2(… (𝒦𝑛(𝑥1
𝑛)) … )) , 𝑡0

]

𝑛𝑚−2
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⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
1))…)) , 𝑡0

]

𝑛𝑚−2

⊛ … 

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
𝑛−1))… )) , 𝑡0

]

𝑛𝑚−2

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

1))… ))

,𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
1))…)) , 𝑡0

]

𝑙

⊛ … …

⊛ 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥0

𝑛−1))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥1
𝑛−1))… )) , 𝑡0

]

𝑙

 

≥ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑙

⊛,

⊛ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑙

⊛ 𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥0

1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥1
1))…)) , 𝑡0

]

𝑙

⊛ … … ⊛ 𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥0

𝑛)) … )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑙

 

> 𝒯 [
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥0

𝑛))… )) ,

𝒦1 (𝒦2(… … (𝒦𝑛(𝑥1
𝑛))… )) , 𝑡0

]

𝑚𝑙

⊛ 𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥0

1))…)) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥1
1))… )) , 𝑡0

]

𝑚𝑙

⊛ ……

⊛ 𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥0

𝑛−1))…)) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥1
𝑛−1))… )) , 𝑡0

]

𝑚𝑙

≥ (1 − 𝜇) ⊛ (1 − 𝜇) ⊛ … …⊛ (1 − 𝜇)
≥ (1 − ʎ) 

And hence,  𝒯 [
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑘

 𝑛))… )) ,

𝒦1(𝒦2(…… (𝒦𝑛(𝑥𝑚
𝑛)) … ), 𝑡)

] > (1 − ʎ) 

So, < 𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑘
 𝑛)) … )) > is Cauchy sequence. 

As the same way, we get,  < 𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘
 1))…)) >, 

< 𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘
 2))… )) >,<

 𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘
 𝑛−1))…)) > are Cauchy sequences. 

Now,since 𝒮1 (𝒮2(… …(𝒮𝑛(𝑋))… )) is complete subspace of Ε 

then there exists 𝑥1, 𝑥2, … , 𝑥𝑛 ∈ 𝒦1 (𝒦2(… … (𝒦𝑛(𝑋))… ))and 

𝑎1, 𝑎2, … … , 𝑎𝑛 ∈ Ε such that, 

lim
𝑘→∞

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘
 1))…)) =

lim
𝑘→∞

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
1,…,𝑥𝑘−1

𝑛)) … )) ⟶

𝒦1 (𝒦2(… …(𝒦𝑛(𝑎1))… )) = 𝑥1 

lim
𝑘→∞

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘
 2))… ))

= lim
𝑘→∞

ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1
2,…,𝑥𝑘−1

1))…))

→ 𝒦1 (𝒦2(… …(𝒦𝑛(𝑎2))… )) = 𝑥2 

lim
𝑘→∞

𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘
 𝑛))… ))

= lim
𝑘→∞

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
𝑛,…,𝑥𝑘−1

𝑛−1))…))

→ 𝒦1 (𝒦2(… …(𝒦𝑛(𝑎𝑛)) … )) = 𝑥𝑛 

Now,         𝒯 [
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1

1,𝑥𝑘−1
2,…,𝑥𝑘−1

𝑛))…)) ,

ℛ1 (ℛ2(… (ℛ𝑛(𝑎1,𝑎2,….,𝑎𝑛))… )) , 𝒢(𝑡)

] ≥

                   𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘−1

 1))… )) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑎1))… )) , 𝑡
] ⊛

                   𝒯 [
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1

 2))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑎2))… )) , 𝑡
] ⊛ … ⊛

                  𝒯 [
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑘−1

 𝑛)) … )) ,

𝒦1 (𝒦2(…… (𝒦𝑛(𝑎𝑛))… )) , 𝑡
] 

As 𝑛 → ∞ and by continuity of 𝑀, we get 

                    𝒯

[
 
 
 𝒦1 (𝒦2(… …(𝒦𝑛(𝑎1))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑎1,𝑎2,…,𝑎𝑛)) … ))

, 𝒢(𝑡) ]
 
 
 

= 1 

Also,      𝒯 [
ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1

2,𝑥𝑘−1
 3,…,𝑥𝑘−1

 1))… ))

, ℛ1 (ℛ2(… (ℛ𝑛(𝑎1,𝑎2,…,𝑎𝑛)) … )) , 𝒢(𝑡)

] ≥

 𝒯 [
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘−1

2))…)) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑎2))… )) , 𝑡
] ⊛

      𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥𝑘−1

 3))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑎3))… )) , 𝑡
] ⊛ … ⊛

      𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 1))… ))

,𝒦1 (𝒦2(… … (𝒦𝑛(𝑎1))… )) , 𝑡
]                     

                 𝒯

[
 
 
 𝒦1 (𝒦2(…… (𝒦𝑛(𝑎2))… )) ,

ℛ1 (ℛ2(… (ℛ𝑛(𝑎2,𝑎3,…,𝑎𝑛))… ))

, 𝒢(𝑡) ]
 
 
 

= 1 , as s 𝑛 → ∞. 
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         Continuity,      

𝒯 [
𝒦1 (𝒦2 (… (𝒦𝑛(𝑥𝑘−1

𝑛,𝑥𝑘−1
1,…,𝑥𝑘−1

𝑛−1))… )) ,

ℛ1 (ℛ2(… (ℛ𝑛(𝑎𝑛 ,𝑎1,…,𝑎𝑛−1))… )) , 𝒢(𝑡)

] ≥

                𝒯 [
𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘−1

𝑛))… ))

,𝒦1 (𝒦2(… …(𝒦𝑛(𝑎𝑛)) … )) , 𝑡
] ⊛                           

                          𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 1))… ))

,𝒦1 (𝒦2(… … (𝒦𝑛(𝑎1))… )) , 𝑡
] ⊛ … ⊛

                 𝒯 [
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

 𝑛−1))… )) ,

𝒦1 (𝒦2(… …(𝒦𝑛(𝑎𝑛−1))… )) , 𝑡
]   

       As 𝑛 → ∞,𝒯

[
 
 
 𝒦1 (𝒦2(… … (𝒦𝑛(𝑎𝑛))… )) ,

ℛ1 (ℛ2(… (ℛ𝑛(𝑎𝑛,𝑎1,…,𝑎𝑛−1))… ))

, 𝒢(𝑡) ]
 
 
 

= 1 

⟹ 𝒦1 (𝒦2(… …(𝒦𝑛(𝑎1))… ))

= ℛ1 (ℛ2(… (ℛ𝑛(𝑎1,𝑎2,…,𝑎𝑛)) … )) = 𝑥1 

𝒦1 (𝒦2(…… (𝒦𝑛(𝑎2)) … )) = ℛ1 (ℛ2(… (ℛ𝑛(𝑎2,𝑎3,…,𝑎1)) … ))

= 𝑥2 

⋮ 

𝒦1 (𝒦2(… …(𝒦𝑛(𝑎𝑛)) … )) = ℛ1 (ℛ2(… (ℛ𝑛(𝑎𝑛,…,𝑎𝑛−1))… ))

= 𝑥𝑛  

Therefore, (𝑎1, 𝑎2, … … , 𝑎𝑛) is an n – tupled coincidence point.        

∎  

Theorem (2.2):Let 𝐴 𝑎𝑛𝑑 𝐵 are two familieslof mappings such 

that 𝐴 = {
ℛ1, ℛ2, … , ℛ𝑛  𝑠. 𝑡  ℛ1: Ε

𝑛 → Ε,

ℛ2, … … ,  ℛ𝑛: Ε𝑛 → Ε𝑛 } , 𝐵 =

𝒦1, 𝒦2, … … ,𝒦𝑛: Ε → Ε} and let (Ε, 𝒯,⊛) be a fuzzylmetric 

space. If the samelconditions in theorems (2.1) are satisfied. 

Then 𝐴 𝑎𝑛𝑑 𝐵 have a unique (𝐺. 𝑛) – tupledlcommon fixed 

point of compose the mappingslof  𝐴and 𝐵. 

Proof: By theorem (2.1), the families  𝐴 𝑎𝑛𝑑 𝐵 have a unique 

(𝐺. 𝑛) – tupledlcoincidence point. But thelmappings lies in A 

and B are  (𝐺. 𝑛)  – commute, this implies 

 𝒦1 (𝒦2 (… (𝒦𝑛 [ℛ1 (ℛ2(… (ℛ𝑛(𝑎1,𝑎2,…,𝑎𝑛))… ))])… )) = 

ℛ1

(

  
 

ℛ2

(

 
 

…

(

 
 

ℛ𝑛

[
 
 
 
 𝒦1 (𝒦2(… (𝒦𝑛(𝑎1))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑎2))… )) ,

… ,𝒦1 (𝒦2(… (𝒦𝑛(𝑎𝑛))… ))]
 
 
 
 

)

 
 

…

)

 
 

)

  
 

 

 𝒦1 ((… (𝒦𝑛 [ℛ1 (ℛ2(… (ℛ𝑛(𝑎2,𝑎3,…,𝑎1))… ))])…)) 

= ℛ1

(

  
 

ℛ2

(

 
 

…

(

 
 

ℛ𝑛

[
 
 
 
 𝒦1 (𝒦2(… (𝒦𝑛(𝑎2)) … ))

,𝒦1 (𝒦2(… (𝒦𝑛(𝑎3)) … )) ,

… ,𝒦1 (𝒦2(… (𝒦𝑛(𝑎1))… ))]
 
 
 
 

)

 
 

…

)

 
 

)

  
 

 

Continue, 

𝒦1 ((… (𝒦𝑛 [ℛ1 (ℛ2(… (ℛ𝑛(𝑎𝑛,𝑎1,…,𝑎𝑛−1)) … ))])…)) 

= ℛ1

(

  
 

ℛ2

(

 
 

…

(

 
 

ℛ𝑛

[
 
 
 
 𝒦1 (𝒦2(… (𝒦𝑛(𝑎𝑛))… )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑎1))… )) ,

… ,𝒦1 (𝒦2(… (𝒦𝑛(𝑎𝑛−1)) … ))]
 
 
 
 

)

 
 

…

)

 
 

)

  
 

 

By above inquisitions, we have 

 𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1))… )) =

ℛ1 (ℛ2(… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛))… )) 

 𝒦1 (𝒦2(… …(𝒦𝑛(𝑥2))… )) =

ℛ1 (ℛ2(… (ℛ𝑛(𝑥2,𝑥3,…,𝑥1)) … ))  … …… 

 𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛))… )) =

ℛ1 (ℛ2(… (ℛ𝑛(𝑥𝑛,𝑥1,…,𝑥𝑛−1))… ))  (2.3) 

Now, since ⊛ is a t – norm of H – type, we have 

 (1 − 𝜇) ⊛ … …⊛ (1 − 𝜇) ≥ (1 − ʎ). But  𝒯(𝑥, 𝑦, . ) is 

continuous and lim
𝑡→∞

𝒯(𝑥,𝑦,𝑡) = 1  , ∀ 𝑥, 𝑦 ∈ Ε then there exits 

𝑡0 > 0 such that,  𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝑡0) ≥ 1 − 𝜇 

𝒯 (𝒮1 (𝒦2(… …(𝒦𝑛(𝑥2))… )) , 𝑥3, 𝑡0) ≥ 1 − 𝜇  … .. 

𝒯 (𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝑡0) ≥ 1 − 𝜇 

On other hand, ,  𝒯 (
𝒦1 (𝒦2(… …(𝒦𝒦𝑛(𝑥1)) … )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘
2))… )) , 𝒢(𝑡0)

) = 

𝒯 (
ℛ1 (ℛ2(… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛))… )) ,

ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
2,𝑥𝑘−1

3,…,𝑥𝑘−1
1))… )) , 𝒢(𝑡0)

)

≥ 𝒯 (
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥1)) … )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1
2))… )) , 𝑡0

)

⊛ 𝒯 (
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥2))… )) ,

𝒦1 (𝒦2 (… (𝒦𝑛(𝑥𝑘−1
3))…)) , 𝑡0

)

⊛ … …

⊛ 𝒯 (
𝒦1 (𝒦2(… … (𝒦𝑛(𝑥2))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘
3))… )) , 𝒢(𝑡0)

)

= 
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𝒯 (
ℛ1 (ℛ2(… (ℛ𝑛(𝑥2,𝑥3,…,𝑥1))… ))

, ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1
3,𝑥𝑘−1

4,…,𝑥𝑘−1
2))…)) , 𝒢(𝑡0)

) ≥

𝒯 (
𝒦1 (𝒦2(… (𝒦𝑛(𝑥2))… ))

,𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
3))…)) , 𝑡0

) ⊛

𝒯 (
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥3))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
4))…)) , 𝑡0

) ⊛ …… ⊛

𝒯 (
𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
2))…)) , 𝑡0

)   Continue,

𝒯 (
𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛)) … )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘
1))… )) , 𝒢(𝑡0)

) =

𝒯

(

 
 

ℛ1 (ℛ2(… (ℛ𝑛(𝑥𝑛,𝑥1,…,𝑥𝑛−1))… ))

, ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
1,𝑥𝑘−1

2,…,𝑥𝑘−1
𝑛))…))

, 𝒢(𝑡0) )

 
 

≥

𝒯 (
𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛)) … )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
1))…)) , 𝑡0

) ⊛

𝒯 (
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥1))… ))

,𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
2))…)) , 𝑡0

) ⊛ …… ⊛

𝒯 (
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛−1))… ))

,1 (𝒦2(…… (𝒦𝑛(𝑥𝑘−1
𝑛))… )) , 𝑡0

).iAs 𝑛 → ∞ 

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)) … )) , 𝑥2, 𝒢(𝑡0)) ≥

𝒯 (𝒦1 (𝒦2(… (𝒦𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝑡0) ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)) … )) , 𝑥2, 𝑡0) ⊛ …⊛

(𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛−1))… )) , 𝑥𝑛 , 𝑡0) 

i. 𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥2))… )) , 𝑥3, 𝒢(𝑡0)) ≥

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥2))… )) , 𝑥3, 𝑡0) ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥3))… )) , 𝑥4, 𝑡0) ⊛ … ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝑡0) 

⋮ 

ii. 𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝒢(𝑡0)) ≥

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝑡0) ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝑡0) ⊛ … … ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛−1))… )) , 𝑥𝑛 , 𝑡0). 

By ( i), (ii) and (iii )we have 

𝒯 (𝒮1 (𝒮2(… (𝒮𝑛(𝑥1)) … )) , 𝑥2, 𝒢(𝑡0))

⊛ 𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥2))… )) , 𝑥3, 𝒢(𝑡0)) 

⊛ … … ⊛ 𝒯 (𝒮1 (𝒮2(… (𝒮𝑛(𝑛)) … )) , 𝑥1, 𝒢(𝑡0))

≥ 𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛)) … )) , 𝑥1, 𝒢(𝑡0)]
𝑛

⊛ 𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)) … )) , 𝑥2, 𝒢(𝑡0)]
𝑛

⊛ … ⊛ 

𝒯 [𝒦1 (𝒦2(… … (𝒦𝑛(𝑥𝑛−1))… )) , 𝑥𝑛 , 𝒢(𝑡0)]
𝑛

. 

    By.induction,𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝒢
𝑘
(𝑡0)) ⊛ 

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥2)) … )) , 𝑥3, 𝒢
𝑘

(𝑡0)) ⊛ … …

⊛ 𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛)) … )) , 𝑥1, 𝒢
𝑘

(𝑡0))

≥ 𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛)) … )) , 𝑥1, 𝒢
𝑘−1

(𝑡0)]
𝑛

⊛ 𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)) … )) , 𝑥2, 𝒢
𝑘−1

(𝑡0)]
𝑛

⊛ …

⊛ 𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛−1))… )) , 𝑥𝑛 , 𝒢𝑘−1
(𝑡0)]

𝑛

. .. 

But ∑ ∅𝑛
(𝑡0) < 𝑡∞

𝑛=1     ,    ∀  𝑛 ∈ 𝑁, we get 

𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝑡]
𝑛𝑘

⊛

𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(2)) … )) , 𝑥3, 𝑡]
𝑛𝑘

⊛ … ⊛

𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝑡]
𝑛𝑘

≥

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)) … )) , 𝑥2, ∑ 𝒢𝑘
(𝑡0)

∞
𝑘=𝑛0

) ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥2)) … )) , 𝑥3, ∑ 𝒢𝑘
(𝑡0)

∞
𝑘=𝑛0

) …⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛))… )) , 𝑥1, ∑ 𝒢𝑘
(𝑡0)

∞
𝑘=𝑛0

) ≥

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)) … )) , 𝑥2, 𝒢
𝑛0

(𝑡0)) ⊛

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥2)) … )) , 𝑥3, 𝒢
𝑛0

(𝑡0))… ⊛

𝒯 (𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝒢
𝑛0

(𝑡0)) ≥

𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝑡0]
𝑛𝑛0

⊛

𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝑡0]
𝑛𝑛0

⊛ … ⊛

𝒯 [𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑛−1))… )) , 𝑥𝑛 , 𝑡0]
𝑛𝑛0

≥ (1 − 𝜇) ⊛ (1 −

𝜇) ⊛ … ⊛ (1 − 𝜇) ≥ (1 − ʎ). Therefore, 

𝒯 (𝒦1 (𝒦2(… (𝒦𝑛(𝑥1))… )) , 𝑥2, 𝑡)

⊛ 𝒯 (𝒦1 (𝒦2(… …(𝒦𝑛(𝑥2))… )) , 𝑥3, 𝑡)

⊛ … …

⊛ 𝒯 (𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛))… )) , 𝑥1, 𝑡)

≥ (1 − ʎ) 

(𝒦2(… …(𝒦𝑛(𝑥1))… )) = 𝑥2, 𝒦1 (𝒦2(…… (𝒦𝑛(𝑥2)) … )) =

𝑥3     , . . ..      𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑛)) … )) = 𝑥1  (2.4). Now, we 

will show that 𝑥1 = 𝑥2 =. . . … = 𝑥𝑛. As that same way, since 

𝒯(𝑥, 𝑦, . ) is continuous and lim
𝑡→∞

𝒯(𝑥,𝑦,𝑡) = 1 ,   ∀ 𝑥, 𝑦 ∈ Ε ⟹

 ∃ 𝑡0 > 0 such that    𝒯(𝑥1,𝑥2,𝑡0) ≥ 1 − 𝜇,    𝒯(𝑥2,𝑥3,𝑡0) ≥ 1 − 𝜇 

… ,𝒯(𝑥𝑛,𝑥1,𝑡0) ≥ 1 − 𝜇.iBut,∑ 𝒢𝑛
(𝑡0)

∞
𝑛=1 < ∞, then we have, 
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 𝒯 (
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘

1))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘
2))… )) , 𝒢(𝑡0)

) = 

𝒯 (
ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1

1,…,𝑥𝑘−1
𝑛))…))

, ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1
2,…,𝑥𝑘−1

1))… )) , 𝒢(𝑡0)

) 

≥ 𝒯 (
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1

1))…)) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘−1
2))… ))

) ⊛ … …

⊛ 𝒯 (
𝒦1 (𝒦2(… …(𝒦𝑛(𝑥𝑘−1

𝑛))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1
1))… ))

)     

Also, 

 𝒯 (
𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘

2))… )) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘
3))… )) , 𝒢(𝑡0)

) =

𝒯 (
ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1

2,…,𝑥𝑘−1
1))… ))

, ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1
3,…,𝑥𝑘−1

2))… )) , 𝒢(𝑡0)

) ≥

𝒯 (
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘−1

2))…)) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1
3))… )) , 𝑡0

) ⊛ …… ⊛

𝒯 (
𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘−1

1))…)) ,

𝒦1 (𝒦2 (… …(𝒦𝑛(𝑥𝑘−1
2))… )) , 𝑡0

) 

Continue, 

 𝒯 (
𝒦1 (𝒦2(… … (𝒦𝑛(𝑥𝑘

𝑛))… )) ,

𝒦1 (𝒦2 (…… (𝒦𝑛(𝑥𝑘
1))… )) , 𝒢(𝑡0)

) =

𝒯 (
ℛ1 (ℛ2 (…(ℛ𝑛(𝑥𝑘−1

𝑛,…,𝑥𝑘−1
𝑛−1))…)) ,

ℛ1 (ℛ2 (… (ℛ𝑛(𝑥𝑘−1
1,…,𝑥𝑘−1

𝑛))…)) , 𝒢(𝑡0)

) ≥

𝒯 (
𝒦1 (𝒦2(…… (𝒦𝑛(𝑥𝑘−1

𝑛)) … )) ,

𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1
1))… )) , 𝑡0

) ⊛ …… ⊛

𝒯 (
𝒦1 (𝒦2 (…(𝒦𝑛(𝑥𝑘−1

𝑛−1)) … )) ,

𝒦1 (𝒦2(… (𝒦𝑛(𝑥𝑘−1
𝑛))… )) , 𝑡0

) 

As  𝑛 → ∞, we get, 

𝒯(𝑥1, 𝑥2, 𝒢(𝑡0)) ≥ 𝒯(𝑥1, 𝑥2, 𝑡0) ⊛ 𝒯(𝑥2, 𝑥3, 𝑡0) ⊛ … …

⊛ 𝒯(𝑥𝑛 , 𝑥1, 𝑡0) 

𝒯(𝑥2, 𝑥3, 𝒢(𝑡0)) ≥ 𝒯(𝑥2, 𝑥3, 𝑡0) ⊛ 𝒯(𝑥3, 𝑥4, 𝑡0) ⊛ … … ⊛

𝒯(𝑥1, 𝑥2, 𝑡0) Continue, 

𝒯(𝑥𝑛 , 𝑥1, 𝒢(𝑡0)) ≥ 𝒯(𝑥𝑛 , 𝑥1, 𝑡0) ⊛ 𝒯(𝑥1, 𝑥2, 𝑡0) ⊛ … …

⊛ 𝒯(𝑥𝑛−1, 𝑥𝑛 , 𝑡0)

⟹ 𝒯(𝑥1, 𝑥2, 𝒢(𝑡0)) ⊛ 𝒯(𝑥2, 𝑥3, 𝒢(𝑡0)) ⊛ ……

⊛ 𝒯(𝑥𝑛 , 𝑥1, 𝒢(𝑡0))

≥ [𝒯(𝑥1, 𝑥2, 𝑡0)]
𝑛 ⊛ [𝒯(𝑥2, 𝑥3, 𝑡0)]

𝑛 ⊛ … …

⊛ [𝒯(𝑥𝑛 , 𝑥1, 𝑡0)]
𝑛 

By induction, 

𝒯 (𝑥1, 𝑥2, 𝒢
𝑘
(𝑡0)

) ⊛ 𝒯 (𝑥2, 𝑥3, 𝒢
𝑘
(𝑡0)

) ⊛ ……

⊛ 𝒯 (𝑥𝑛, 𝑥1, 𝒢
𝑘

(𝑡0)
)

≥ [𝒯 (𝑥1, 𝑥2, 𝒢
𝑘−1

(𝑡0)
)]

𝑛

⊛ [𝒯 (𝑥2, 𝑥3, 𝒢
𝑘−1

(𝑡0)
)]

𝑛

⊛ … …

∗ [𝒯 (𝑥𝑛 , 𝑥1, 𝒢
𝑘−1

(𝑡0)
)]

𝑛

…

≥ [𝒯(𝑥1, 𝑥2, 𝑡0)]
𝑛𝑘

⊛ [𝒯(𝑥2, 𝑥3, 𝑡0)]
𝑛𝑘

⊛ …… ⊛ [𝒯(𝑥𝑛 , 𝑥1, 𝑡0)]
𝑛𝑘

 

Now, 𝒯(𝑥1, 𝑥2, 𝑡) ⊛ 𝒯(𝑥2, 𝑥3, 𝑡) ⊛ … …⊛ 𝒯(𝑥𝑛 , 𝑥1, 𝑡)   ≥

𝒯 (𝑥1, 𝑥2, ∑ 𝒢𝑘
(𝑡0)

∞
𝑘=𝑛0

) ⊛ 𝒯 (𝑥2, 𝑥3, ∑ 𝒢𝑘
(𝑡0)

∞
𝑘=𝑛0

) ⊛

   … …   ⊛   𝒯 (𝑥𝑛 , 𝑥1, ∑ 𝒢𝑘
(𝑡0)

∞
𝑘=𝑛0

)               ≥

𝒯 (𝑥1, 𝑥2, 𝒢
𝑛0

(𝑡0)
) ⊛ 𝒯 (𝑥2, 𝑥3, 𝒢

𝑛0
(𝑡0)

) ⊛ ……   ⊛

𝒯 (𝑥𝑛 , 𝑥1, 𝒢
𝑛0

(𝑡0)
)            ≥ [𝒯(𝑥1, 𝑥2, 𝑡0)]

𝑛𝑛0 ⊛

[𝒯(𝑥2, 𝑥3, 𝑡0)]
𝑛𝑛0 ⊛ …… ⊛ [𝒯(𝑥𝑛 , 𝑥1, 𝑡0)]

𝑛𝑛0          ≥

(1 − 𝜇) ⊛ (1 − 𝜇) ⊛ … …⊛ (1 − 𝜇) ≥ 1 − ʎ    

Therefore, 𝑥1 = 𝑥2 = 𝑥3 =  …  = 𝑥𝑛.And hence, by (2.3) and (2.4) 

𝒦1 (𝒦2(… (𝒦𝑛(𝑥1)). . )) = ℛ1 (ℛ2(… (ℛ𝑛(𝑥1,𝑥2,…,𝑥𝑛)). . )) = 𝑥1 

𝒦1 (𝒦2 ((𝒦𝑛(𝑥2)). . )) = ℛ1 (ℛ2(… (ℛ𝑛(𝑥2,𝑥3,…,𝑥1)). . )) = 𝑥2 . 

And,  𝒦1 (𝒦2(. . (𝒦𝑛(𝑥𝑛)). . )) =

ℛ1 (ℛ2(. . (ℛ𝑛(𝑥𝑛 ,𝑥1,…,𝑥𝑛−1)). . )) = 𝑥𝑛 ∎ 
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